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00O  Program List

//mesonGF.c

//Green’s function method to obtain the classical meson field
//Poissonl: 0000000 DOCOOOO00O0OODOOOODOOOOOOOOD
//rhocheck: 00 OIDODODOODOOOO0DOOOOOUOOCOO,ODO0O0ODOOOOOO
// gboooooboooooo

/720070 10 290 OO OO OO

#include<stdio.h>
#include<math.h>
#define N 3001

// gooooooooo

int Poissoni(int imax,double h,double m,double *rho,double *phi);

double density(double r);
double rhocheck(double h,double m,double rho[],double phi[l);

// main 00

int main(){

double m=0.7; //000000 (Mev/c™2)
double h=0.01; //00000000 (fm)
double r; //0000

double rhol[N]; //00000000
double philN]; //0000

int 1i,j;

for(i=0;i<N;i++){
r=ix*h;
rho[i]l=density(r);

Poisson1(N,h,m,rho,phi);

rhocheck(h,m,rho,phi);
}

// Poissoni 00

int Poissoni(int imax,double h,double m,double *rho,double *phi){
double D; //Green 0000
double r0O,ri; //Green 0O OO0 r,r’
double s;

int i,j;

// r=0 OO0
i=0;
rO=ix*h;

s=0;
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//00000000000000O00000000000000000d

//000000000000oDooooog

for(j=1;j<imax;j++){ // Point ri1=0 does not contribute.
ri=j*h;

s+=exp (-m*r1)*ri*rho[j];

}
phi[0]=s*h;
// r>0 OO0
for(i=1;i<imax;i++){
r0=ixh;
s=0;
for(j=1;j<imax;j++){
//000000 r=r’ 00000CCOCOOOOOOOOO
//00000000000000O00O0RODOOOOO0OOO0
ril=j*h;
if (r1>=r0) D=sinh(m*r0)*exp(-m*r1)/(m*rO*ri);
else D=sinh (m*r1)*exp (-m*r0) / (m*rO*rl) ;
s+=rixrixrho[j]*D;
}
phil[il=s*h;
}
return O;
}
// ooooooo

double density(double r){
double R=7.0; //00000 (A=208) DOOO 7.11fm
double 2=0.7; //0000000C0000O0O0OOCOOO (fm)
return 1/((1+exp(r-R)/a)*(1+exp(-r-R)/a));}

// goooooooooooo
double rhocheck(double h,double m,double rho[],double phil[]){
double ST; //0000 souce term
double Fdphi; //0000 phi0000O0O
double Sdphi; //0000 phi 00000
double r;
int i;

//000phif0] 00000000 (OO0OO0)O0000000000
// phil0l] DO OOOO0ODOODOO0DOODOODOOOOODO
for(i=0;i<N-2;i++){
r=ix*h;
if (i==0){
Sdphi=(-phi [2] +16*phi [1]-30*phi [0] +16phi [1]-phi [2])/ (12%h*h) ;
ST=-(3*Sdphi-m*m*phi[0]) ;
}
else if (i==1){
Fdphi=(phi[2]-phi[0])/(2%h);
Sdphi=(-phi[2]+16%phi[1]-30*phi [0]+16*phi [1]-phi[2])/(12*h*h);
ST=-(Sdphi+(2/r)*Fdphi-m*m*phi[i]) ;
}
else{
Fdphi=(phi[i+1]-phi[i-1])/(2*h);
Sdphi=(-phi[i+2]+16*phi[i+1]-30%*phi [i]+16*phi[i-1]-phi[i-2])/(12*h*h);
ST=-(Sdphi+(2/r)*Fdphi-m*m*phi[i]) ;
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printf ("%f %e %e %e\n",r,rho[i],ST,phil[il);

//mesonGS.c

//The Gauss-Seidel method the classical meson field

//Poisson2: 00000000 ODOOOO0OODOOOOOOODOOOODOOODODO
//2007 0 20 2-70 OO0 OO OO

#include<stdio.h>

#include<math.h>

#define N 3001 /,/00000000COO0OOO0O o000 r=0O0OODODO

// gooooooooo
int Poisson2(int imax, double h, double m, double *rho, double *phi );
double density(double r);

// main 00
int main(){
double m=0.7; //mO000000 (139.57MeV = 0.71 fm~(-1))
double h=0.01; //000000000 (fm)
double phi[N]; //0000 ¢ (r)
double rhol[N]; (/000000000 (oooooooog) p (@
double r; //0000 ()

int i;

for(i=0;i<N;i++){
r=ix*h;
rho[il=density(r);
philil=rho[i]l; //Gauss-Seidel 000 O0O0OOOOOOODOO

Poisson2(N,h,m,rho,phi) ;

for(i=1;i<N;i++){
r=ixh;

printf ("%f %e %e\n",r,rho[il,phil[il);

// Poisson2 00
int Poisson2(int imax, double h, double m, double *rho, double *phi ){
//Screened Poisson 000000 Gauss-Seidel OO0 OO OOOO

//m Jo00000 (139.57MeV = 0.71 fm~(-1))
//h=0.01; Jooooooogd (£m)
//philN]; oooo ¢ (o
//rho[N]; 00000ooooo (ooooooogd) p (o)
double newphi; /00000000 (OODO)
double r; //0000 (£fm)

double ¢c=1.99; //Gauss-Seidel DO O0O0O0O (0<c<2,c>10000)
double s,t,err;
double c0,cl1,c2,z0,z1,22;

int i,j;

t=m*h; t=1/(t*t+2.5);
c2=(-1.0/12.0)*t;
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cl=( 2.0/ 3.0)*t;
cO= h*hx*t;

t=m*h; t=1/(t*t+7.5);
z2=-0.5%t;
z1= 8.0%t;
z0= hxhx*t;

for(j=0;j<1000;j++){ // Gauss-Seidel D0 OO 0D0OOO

s=0;

i=0;
newphi= z2*phi[2]+z1*phi[1]+z0*rho[0];
t=newphi-phi[i]; s+=t*t; phil[i]+=c*t;

i=1;

t=2.0/1;

newphi= c2%((1+t)*phi[i+2]+(1-t)*phi[ 11)
+c1*((2+t)*phi[i+1]+(2-t)*phi[i-1])-cO*rho[i];

t=newphi-phi[i]; s+=t*t; philil+=c*t;

for(i=2;i<imax-2;i++){
t=2.0/1i;
newphi = c2x((1+t)*phi[i+2]+(1-t)*phi[i-2])
+c1*((2+t) *phi [i+1]+(2-t)*phi[i-1])-cO*rho[il;
t=newphi-phil[i]; s+=t*t; philil+=c*t;

i=imax-2;
t=2.0/1;
newphi= c2x*((1+t)*0 +(1-t)*phi[i+1])
+c1x ((2+t)*phi [i+1]1+(2-t)*phi[i-1]) -rho[il*cO;
t=newphi-phi[i]; s+=t*t; philil+=c*t;

i=imax-1;
t=2.0/1;
newphi= c2*((1+t)*0 +(1-t)*phil[i+1])

+c1*((2+t) *phi [i+1]+(2-t)*phi[i-1])-cO*rho[i];
t=newphi-phil[i]; s+=t*t; phil[i]+=c*t;

s=sx*h;
if (s<1.0e-16) break;
}
if (s>=1.0e-16) fprintf(stderr,"warning: not converged: error=je\n",s);
err=sqrt(s*h) ;
fprintf (stderr,"# #iteraction=Y%d error=je\n",j,err);
return O;

}

// goooogo
double density(double r){
double R=7.0; //00000 (A=208) 0000 7.11 fm
double a=0.7; //000000000000000000 (£fm)
return 1/((1+exp(r-R)/a)*(1+exp(-r-R)/a));
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